N = 0l & At & M A

2N sENSD
H: sEZAS N (sHHLrd/s5Y - &)

ool s S4 EERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F Hl D2
sEJEN 2,077,348 2,067,736 9,612

= 81,300 81,300 0
Xl 50,000 50,000 0
< 79,756 78,256 1,500
Al 1,866,292 1,858,180 8,112
SEMS HE(sHaL>d/s2 - &) 1,817,653 1,814,653 3,000
= 81,300 81,300 0
Xl 50,000 50,000 0
< 79,756 78,256 1,500
Al 1,606,597 1,605,097 1,500
sgodE g4 441,574 440,074 1,500
= 41,480 41,480 0
< 20,012 19,262 750
Al 380,082 379,332 750
Hb5s Metde sE=EXNS MU &It K& 1,500 0 1,500
< 750 0 750
Al 750 0 750
307 glztol & 1,500 0 1,500
< 750 0 750
Al 750 0 750
02 UAHFLAEEX 1,500 0 1,500
O HMb3 MetgeEsEXNEXUE &I X

1,500,000& = 14 1,500 0 1,500
< 750 0 750
Al 750 0 750
SEYEINA 181,836 180,336 1,500
Xl 50,000 50,000 0
< 6,744 5,994 750
Al 125,092 124,342 750
H72 M=MaIfds@ sotStal 0 X2 1,500 0 1,500
= 750 0 750
Al 750 0 750
201 LEt2A | 1,500 0 1,500
= 750 0 750
Al 750 0 750
01 At 2teltl 1,500 0 1,500

O M73 d=2MEIMH3 StOtSUHa 0 X
e Xt 750,000 = 1CH = 2¢ 1,500 0 1,500
< 750 0 750
Al 750 0 750
Hees(s=dsl)(sgddldad/zg9 - =&) 53,069 46,457 6,612
RSN 53,069 46,457 6,612
RSN E- 53,069 46,457 6,612
802 gtet=JIEt 53,069 46,457 6,612
01 2 NE2x3eeE= 49,390 43,409 5,981
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